Marine Biology


Virtual Lab:  Dissolved Oxygen
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Name of Student:                                    Date:       
Directions: Using the Pearson Lab Bench, complete the lab and answer the questions below.  Submit via Bb.
1.  1. Which environment has the greater concentration of dissolved oxygen: salt water or fresh water?       
2.  2. Which environment has the greater concentration of dissolved oxygen: warm water (31°C) or cool water (18°C)?       
3. Which environment has the greater concentration of dissolved oxygen: a clear pond or a pond with a heavy algal mat? Explain.       
4. Using words, provide the equation for photosynthesis.       
5. In the section Design the Experiment, answer the following questions pertaining to the given graph.

a. What is the percent oxygen saturation for a water sample at 10°C that has 7 mg O2/l?       
b. What is the percent oxygen saturation for a water sample at 25°C that has 7 mg O2/l?       
6. In the Model of Productivity, why are some bottles wrapped with varying thickness of screening?       
7. In plants, oxygen is used and produced.  In what process in oxygen being used by the plant?  In what process is oxygen being produced?       
8. In the Model of Productivity- dark, why do you suppose no oxygen is being made by the plant?       
9.  What would you expect to happen to the productivity of oxygen by a plant as you increase the amount of light available to the plant?  Provide a hypothesis. (This should be a testable statement that begins with “as the amount of light is increased, the net productivity of the plant should…”)       
For the sample problem, note that the dark bottle in this experiment (0% light) produced 1mg of oxygen molecules.  To calculate the gross productivity, you take the bottle for that line and subtract 1 mg from it.  For example, in the first line, the “light bottle” is bottle E.  You then subtract 1mg from 1mg and you get a gross productivity of 0mg.  To calculate the net productivity, you subtract the initial amount (4 mg) from the “light bottle” of that line.  So for line 1, you would subtract 4mg from 1mg for a net productivity of -3.  Complete the rest of the chart accordingly.
	% light
	Bottle
	Gross Productivity
	Net Productivity

	0
	E
	0 mg
	-3 mg

	2
	     
	     
	     

	10
	     
	     
	     

	25
	     
	     
	     

	65
	     
	     
	     

	100
	     
	     
	     


10.  Although you are not required to graph for this exercise, you should be able to identify the dependent and independent variables for this activity.  In looking at the graph provided on the page, what is the dependent variable?         What is the independent variable?      
Take the self quiz and check your answers.  Although they will not be included here, you may see these questions again on the assessment at the end of this module.

